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0713 BT < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
1210 XS] < 0.0003|< 0.1 0.017 <0.02 ]<0.005 |<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
1610 =i < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
2327 Rl < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
2412 EEUTH < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
2620 REHEET < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
3022 [ Eemil < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
3126 AR < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 |< 0.0002{< 0.0002|< 0.0004
3520 [ Eemil < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
3718 BE™H < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
4027 AR < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
4427 L AT < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 |< 0.0002{< 0.0002|< 0.0004
4832 FFFHT < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
4937 LA < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
TE% 5031 FEEEMT < 0.002 |<0.0002|< 0.0002|< 0.0004
% 5133 ARE)ITH < 0.002 |<0.0002|< 0.0002|< 0.0004
= 5544 AR < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
5642 AR < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
5741 AR < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
5843 AR < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
5942 AR < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
6045 =T < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
6140 A B < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{< 0.0002|< 0.0004
6141 =T < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
6241 I=k < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.002 |<0.0002{0.0004 |[< 0.0004
6242 =T < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [<0.0002{< 0.0002|< 0.0004
6245 =T < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 [< 0.0002{< 0.0002|< 0.0004
6441 =T < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 |<0.0002{< 0.0002|< 0.0004
6541 245 L BT < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005 < 0.0005|< 0.002 |< 0.0002{< 0.0002|< 0.0004
6642 K] < 0.0003|< 0.1 <0.005 |<0.02 [<0.005 [<0.0005
6843 G < 0.002 [<0.0002|< 0.0002|< 0.0004
CE1) BRLldme/LCh . GE2) JOOIFLUIE. TR28F0A 290N BB R E R e BB 0=, TR29%E4H

1TERYNEILEZLE/I— I8N ERSNT,




1 1 ~ ~ 1 F
a7l * , : ! L N L 7 : ) A
= v 7 I T2 <5 IZYF 7, 7, I') I|_~ 73 F D2 x
(0] < e :):J« :f_\l« :):|:/:):|5 H B :):7 K Ell r_j ? >
| 2 iy A Bt T T I B I N It < - IR
15 & D7 B/ B |27z T I2 g |¥e|[¥? N v I
E= m] o |~ 9 >y | A A | m] m] -
A o[ B i > = 2
m] m]
0713 =Em <0.01 [<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |[<0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
1210 5 5 ErET <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |<0.001 |<0.0002
1610 =Em <0.01 [<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
2327 et <0.01 |[<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
2412 BRI <0.01 [<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
2620 RFHEET <0.01 [<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |<0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
3022 [zt <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
3126 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |<0.001 |<0.0002|< 0.0006]|< 0.0003|< 0.002
3520 [zt <0.01 |[<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |<0.001 |<0.0002|< 0.0006]|< 0.0003|< 0.002
3718 BT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]|< 0.0003|< 0.002
4027 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |< 0.001
4427 K L U5 T <0.01 |[<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
4832 HFHET <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |<0.001 |<0.0002
4937 A LA <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001 |< 0.0002|< 0.0006]< 0.0003|< 0.002
TE’E 5031 R <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |<0.001 |<0.0002
';;]' 5133 ARiE)IH <0.01 |[<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |[< 0.001 |<0.0002|< 0.0006]|< 0.0003|< 0.002
= 5544 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001
5642 AT <0.01 [<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001
5741 AT <0.01 [<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |< 0.001
5843 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001
5942 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 [0.001
6045 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001
6140 [\ B <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
6141 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001
6241 [\ B <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
6242 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<0.1 < 0.0006{< 0.001 |< 0.001
6245 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001
6441 AT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001
6541 A 480 L BT <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |< 0.001 |<0.0002|< 0.0006]< 0.0003|< 0.002
6642 [ AfHILIET
6843 T <0.01 |[<0.004 |[<0.002 |[<0.002 |[<O0.1 < 0.0006{< 0.001 |[<0.001 |<0.0002|< 0.0006]|< 0.0003|< 0.002
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0713 =& <0.001 [<0.002 |057 0.56 <001 [<008 [<01 [<0.005
1210 | 551 %50r <0.001 [<0.002 |0.24 0.23 <001 |0.08 <0.1 [<0.005
1610 |=EmM <0.001 [<0.002 |0.40 0.39 <001 [<008 <01 [<0.005
2327 |mfd <0.001 [<0.002 |0.68 0.67 <001 [<008 <01 [<0.005
2412 |fB&nm <0.001 <0002 |0.72 0.71 <001 [<008 <01 [<0.005
2620  |FFHKAT <0.001 <0002 1.1 1.1 <001 [<008 <01 [<0.005
3022 [mEfH <0.001 [<0002 |1.9 1.9 <001 [<008 <01 [<0.005
3126 |R#&H <0.001 (<0002 |1.6 1.6 <001 [<008 <01 [<0.005
3520 [mEf <0.001 [<0.002 |0.22 0.21 <001 [<008 <01 [<0.005
3718 [&m™ <0.001 <0002 |1.0 1.0 <001 [<008 <01 [<0.005
4027 |RE#&H <0.001 <0002 |3.8 3.8 <001 [<008 <01 [<0005
4427 | KILUET <0.001 <0002 |0.08 0.07 <001 |0.13 0.1 < 0.005
4832 |HFH <0.001 |<0.002 <008 [<0.1 [<0.005
4937 |@ILEA <0.001 [<0.002 |0.77 0.76 <001 |o.13 <0.1 [<0.005
TE* 5031  |¥EFEHET < 0.001 < 0.005
;ﬁ 5133 | K& < 0.001 <0.02 [<001 [<001 < 0.005
% 5544 [F#EBTH <0.001 [<0002 |2.6 2.6 <001 [<008 <01 [<0.005
5642 |R#&BH <0.001 <0002 |2.4 2.4 <001 [<008 <01 [<0.005
5741 |R#&H <0.001 <0002 |3.0 3.0 <001 [<008 <01 [<0.005
5843  |R#&BH <0.001 <0002 |1.9 1.9 <001 [<008 <01 [<0005
5942  |R#&BH <0.001 <0002 |45 45 <001 [<008 <01 [<0.005
6045  |R#&BH <0.001 [<0.002 |0.87 0.86 <001 |o.14 <0.1 [<0.005
6140 |FHBET <0.001 [<0002 [<002 [<001 <001 [<008 [<0.1 [<0.005
6141 |R#&H <0.001 <0002 |1.7 1.7 <0.01 [0.09 <0.1 [<0.005
6241 |FRBETM <0.001 [<0002 [<002 [<001 <001 [<008 [<0.1 [<0.005
6242  |FmA&RT < 0.001 [<0.002 9.8 9.8 <001 |[<0.08 [o.1 < 0.005
6245 |FRA&RT < 0.001 |[<0.002 [0.68 0.67 <001 [<0.08 [<0.1 < 0.005
6441  |R#BH <0.001 [<0002 [<002 [<001 <001 [<008 [<0.1 [<0.005
6541 | AfLET <0.001 [<0002 [<002 [<001 <001 [<008 [<0.1 [<0.005

6642 | AfElILIET < 0.002 <008 [<o0.1
6843  |¥kiGH < 0.001 0.37 0.36 < 0.01 < 0.005
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